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Question Number : 1 Question Id : 678913501 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

1120 /vx = 80 Thenx="?
Options:
| % 225

> % 125

5 % 336
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Question Number : 2 Question Id : 678913502 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Find the HCF of 15x2 +8x—12,3x2 4+ x— 2,3x* — 2x,9x? —12x + 4
Options:
1 % x—4

> o 3x—2
a8 w—2

4 % 3x—4

Question Number : 3 Question Id : 678913503 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

Find the square root of 0.0324.

Options:
; % 0.018

> « 0.18
z ® 1.8

4 % 1.08

Question Number : 4 Question Id : 678913504 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

What is the square root of 54767

Options:
1 # 76

o W 66

g w 84

Question Number : 5 Question Id : 678913505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

162+[51—-{29—-(9— 6 + 7)}]=2
Options:
1 ® 7
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>« 9
3_% 14

4 W 18

Question Number : 6 Question Id : 678913506 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

A barrel has 4L and 500 mL of acid. In how many containers, each of capacity 25 mL. can be filled?

Options:
1 & 175

> % 185
3 « 180

4 % 200

Question Number : 7 Question Id : 678913507 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

119+[22—-{90=+(23—-105+-7%Xx3)} ="
Options:
1 # 3

Question Number : 8 Question Id : 678913508 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

In a triangle ABC, D. E and F are the mid-points of the sides BD, CA and AB. respectively. BE and DF intersect at X.
DE and CF intersect at Y. Find XY =7

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1 BC
1y =&

2 BC

na
w |
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1 BC

1 BC

b
w |

Question Number : 9 Question Id : 678913509 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical

If the angles of the triangle are in the ratio of 1 : 2 ; 3. then what is the smallest angle?

Options:
1 ® 15'3

b Sﬂﬂ

3]

Lh

3_%-32

g # 40°

Question Number : 10 Question Id : 678913510 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If you divide a 24.6 m long wire in the ratio 12 : 29, what will be the length of the longer piece?
Options:

1 % 152m

>~ % 7.7m

z o 174 m

4 % 154 m

Question Number : 11 Question Id : 678913511 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Divya saves 45.5% of her total salary. Express the part of her savings in decimal form.
Options:

1 ¢ 0.4550

> % 0.0455

5 % 0.4000

4 % 0.4505
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Question Number : 12 Question Id : 678913512 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Inclusive of a profit of 16% Rishi sold a pair of footwear for T 2,059, What was the cost price of the pair of shoes?
Options:
1% < 1.780

5 % T 1,760
e TS

4 = T 1,800

Question Number : 13 Question Id : 678913513 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A and B together can complete a task in 10 days. B and C can do in 15 days, and C and A together can do it in 12 days.
How long will they take to complete the task working together?

Options:
| 8days

> % 12 days

- » 10days

4 % l4days

Question Number : 14 Question Id : 678913514 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Travelling at a speed of 54 km/h. Chaman reaches a place 3 minutes early. If he had travelled at a speed of 48 km/h. he
would have been 1 minute late. What is the distance Chaman had to travel?

Options:
1 % 25.8km

> o 28.8 km
z % 31.5km

4 % 28.0km

Question Number : 15 Question Id : 678913515 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the time taken by a train 200 m long running at a speed of 60 km/hr to cross a signal post.

Options:
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1 % 30 sec
- % 1min
= o 12 3ec

4 % 14 sec

Question Number : 16 Question Id : 678913516 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The ratio of the present ages of Naresh and Suparna is 7 : 3. Three years from now. the ratio of their ages will be 2 : 1.
The current age of Naresh is years.

Options:
1 21

o W 14
T W 28

4 % 105

Question Number : 17 Question Id : 678913517 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a school there are 20 girls. The average age of the girls is decreased by 2 months when one girl aged 18 years is
replaced by a new girl. What is the age of the new girl?

Options:
, % 14 years 2 months

> % 14 years 4 months

- % 14 years 6 months

4 14 years 8 months

Question Number : 18 Question Id : 678913518 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The sum of the present ages of two cousins is 54 years. Eleven years ago, the older one was thrice as old as the younger
one. What is the present age of the older cousin?

Options:
L % 32 years

5 % 36 vears
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5 3O years

4 % 34 years

Question Number : 19 Question Id : 678913519 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diameter and the slant height of a conical tent are 16 m and 5.6 m, respectively. What length of cloth having width 4
m is needed to make the tent?

Options:
1 ¢ 352m

> % 35m

L]
#®
r_-"_‘l
I
LA
=]

o
3
i
B

Question Number : 20 Question Id : 678913520 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The surface areas of three faces of a cuboid sharing a vertex are given as 25 m*, 32 m? and 32 m?. What is the volume
of the cuboid?

Options:
1 « 160m?3

> % 184 m3

. % V3024 m?

4 ® 92m3

Question Number : 21 Question Id : 678913521 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Two times a number, added to the square of that number, gives 3. What could be the possible answer for this number?
Options:

1 % lor3

~ % —lor3

= % —lor—3

4« lor—3
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Question Number : 22 Question Id : 678913522 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

2[sinx — cosx]* + 6[sinx + cos x]* + 5[sin®x + cos®x]=?
Note: For this question, discrepancy is found in question/answer. So,this question isignored for all

candidates.
Options:

1 3

> 6

Question Number : 23 Question Id : 678913523 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Four numbers, when arranged in ascending order, are w. x . v and z. The average of the smallest three numbers is
25.5 while the average of the largest three numbers was 29.5. What is the range of the data?

Options:
1 #® 10
o W 11

3 ¢ 12

E 13

Question Number : 24 Question Id : 678913524 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If tana = 5- 2 . then the value of tana - cota =7
Options:

1% V5 +2

> ® ZV(E

3¢ —4

E -2

Question Number : 25 Question Id : 678913525 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The diagonals of a rectangle are inclined to one side of the rectangle at 25°. The acute angle formed between the
diagonals is:
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Options:
1 ® 25"

- B 4'::'0

Question Number : 26 Question Id : 678913526 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

In a certain coded language, the word MENU is coded as 13—5-14-21. Following the same rule of coding. what should
be the code for the word FOOD?

Options:
| % 6-15-4-18
5 % 15-15-6-4

5 % 4-16-15-8

4  6-15-15-4

Question Number : 27 Question Id : 678913527 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Select the term that relates to the third term in the same way as the second term relates to the first term.

Close : Open :: Cut :
Options:

1 ® Jaw

> % Stitch

3 « Aftach

4 % Gel

Question Number : 28 Question Id : 678913528 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Read the given statements and the following conclusions carefully and select which of the conclusions logically
follow(s) from the statements.

Statements:
e All locusts are insects.
o All insects are wortmns.

Conclusions:
1. All locusts are worms.
2. All insects are locusts.

Options:
, w Only conclusion 2 follows.

- % All the conclusions follow.

5 o Only conclusion 1 follows.

4 % No conclusions follow.

Question Number : 29 Question Id : 678913529 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If FOG is written as ENF in a certain code, how will HEN be written as in that code?

Options:
| « GDM

> % GDO
5 % DGO

4 % GMD

Question Number : 30 Question Id : 678913530 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the given statements to be true even if they seems to be at variance with the commonly known facts and decide
which of the given conclusions logically follow(s) from the statements.

Statements:
All Proteins are Grapes.
All Grapes are Bunches.

Conclusions:

1. All Bunches are Grapes.
2. All Proteins are Bunches.
Options:

, % Only 1 follows.
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o  Only 2 follows.
= % Either 1 or 2 follows.

4 % DBoth 1 and 2 follow.

Question Number : 31 Question Id : 678913531 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If LIT is coded as 12920, then what is the code for THAT?

Options:
1« 208120

> % 206120
s % 207120

4 % 205120

Question Number : 32 Question Id : 678913532 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the statements and identify which of the conclusions logically follow/s from the given statement.
Statement:

Parents are ready to pay high fees for good education.

Conclusions:
i Parents want to provide good education to their children.
I1. Good education can only be provided at a high fee.

Options:

, « Only conclusion I follows

> % Only conclusion II follows
=z % Neither conclusion I nor II follows

4 % DBoth conclusions I and II follow

Question Number : 33 Question Id : 678913533 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Given below is a set of statements followed by two assumptions numbered I and II. You have to consider the statements
and the following assumptions and decide which of the assumptions is implicit in the statements.

Statement:

He is health conscious. He walks 4 kms every day and consumes only healthy food.

Conclusions:

I. He does not eat junk food.

II. On weekends. he walks for more than 4 kms.
Options:
, « Only assumption I is implicit

- % Only assumption II is implicit
- % Neither assumption I nor II is implicit

, % Bothassumptions I and II are implicit

Question Number : 34 Question Id : 678913534 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Consider the given statement(s) and decide which of the given assumption(s) is/are implicit in the statement.
Statement:

The headmistress announced, “From now on every Wednesday there will be a story telling session after Assembly™.
Assumptions:

1. Teacher wants children to read stories.
II. Teacher wants children to write their own stories.

Options:
, « OnlyIis implicit

> % Only I is implicit

5 % Neither I nor II is implicit

, w» BothIandII are implicit

Question Number : 35 Question Id : 678913535 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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A statement is followed by two arguments. Decide which of the arguments is/are strong with respect to the statement.

Statement:
Should Public be mobilized to adopt and maintain trees road side?

Arguments:
I.  Yes, this will help to recover the green cover faster as each would take responsibility for the trees near their
homes

II.  No. the local government bodies should maintain as public would not take responsibility.
Options:
, » DBothIandII are strong

> % Only argument II is strong

5 ® Neither I nor II is strong

4  Only argument I is strong

Question Number : 36 Question Id : 678913536 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the next letter in the given series:
B.FIMPT,?

Options:

1.v W

o W Y

S_RT

4.WU

Question Number : 37 Question Id : 678913537 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

What alphanumeric character will follow in the given series:

2K, 5L, 10N, 17Q, ?
Options:

;. ® 208

> % 25M

3 « 26U
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4 % 18K

Question Number : 38 Question Id : 678913538 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the next term in this series:

3L12. 9N14, 27P16,
Options:

, ® BOR1S

> « 8IR18

s % 80818

4 % 81818

Question Number : 39 Question Id : 678913539 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Based on the numerical analogy given, choose the correct answer from the options given below:

36357
Options:

1 ® 06

o o 112

s % 120

4 % 128

Question Number : 40 Question Id : 678913540 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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As per the following table, how many months have the same price for vegetables over the 2-year timeframe?

Months Price Price per
perkg |kg(in3)
(inI)— |- Year2
Year 1
Jan 40 35
Feb 30 50
Mar 40 35
Apr 30 80
May 30 30
Jun a0 30
Jul 30 30
Aug 50 60
Sep 50 40
Oct 50 50
Nov 40 35
Dec 40 35
Options:
1.¢ 3
o W 3
T W 6
4 W 2

Question Number : 41 Question Id : 678913541 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
The following pie chart shows information on the sales of a toy making company *XYZ" during the financial year 2017- 18.

musical tovs

ﬁ Activity tovs
leaming
L Soft toys

toddler toys

The total revenue generated from the sale of all the toys is < 38.72,000. How much of this revenue was generated from
‘learning blocks™?

Options:
. % ¥1.93,600

- < 5.80.800



Railway Recruitment Boards - Level-1 Posts CEN-02/2018

2 % <7,74,400

. T1,74240

Question Number : 42 Question Id : 678913542 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A kiosk has different brands of chips. 70% of the stores’ sales are from selling potato chips. 30% of the sales are from
other chips and wafers. Every quarter the store’s sales on an average are ¥ 12.00,000. What is their approximate
average monthly sales of potato chips?

Options:
. v 2.80,000

- % < 2.50,000
- % < 5.00,000

. % < 3.00.000

Question Number : 43 Question Id : 678913543 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Read the following question and decide which of the statements is/are sufficient to answer the question.
Find the value of ‘n’.

Statements:
1)n*—20n+100=0
n*+x*+y*+2=2n+5
Options:

1 Only statement 1 is sufficient

» % Only statement 2 is sufficient

= % Either statement 1 or 2 is sufficient

4 % Neither statement 1 nor 2 is sufficient

Question Number : 44 Question Id : 678913544 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Identify the answer figure that will replace the question mark in the problem figure.

Problem figures:

Ol |H]| 2

Answer figures:
0 0

1| o] [T €9

]

A B i D

Options:
1 *® A

>« B
3_33'::

4 % D

Question Number : 45 Question Id : 678913545 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Select the option figure that will complete the series of question figures.

Problem Figures:
== |ae= |ma;E |7 |

Answer Figures:
A B C D
Rga=E |R4=4q |RIEd | =Rd4

Options:
1 *® A

E_QB
3_$3C

4.+ D

Question Number : 46 Question Id : 678913546 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Select the option that can replace the question mark (?) in the following series.

®) ?
o o o
Q O
A B B D
@)
Qo
Clo o ol|lo
Options:
1_23 A
o W B
T W C
4.« D

Question Number : 47 Question Id : 678913547 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Find the odd one out:

LI

A B e D

Options:
1 & A

2_33}3
3. ¢ C

4. % D

Question Number : 48 Question Id : 678913548 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Which of the option figures comes next?

Problem Figure:

AGE | |
L] - I}
|I"Ltf \f ||'|h-|)r 0 |IO A+ .
\—

Answer Figures:

A B
TR
- o
+¥ |\ BART
C D
||'Q oAl I|G b
=% H* W/
M= |
Options:
1. ¢ C
o W A
T W B
E D

Question Number : 49 Question Id : 678913549 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Select the option that can replace the question mark (?) in the following series.

7
€| 0 + g< |l /2= | £2
++ | f2* £ | 0 0 <E

A B
+ 0 A0
E< | f+* g< | £
C D
0§ fi* ﬂ i'lli*
£= | £= |
Options:
1 *® A
o W B
o W C
4.+ D

Question Number : 50 Question Id : 678913550 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following correctly represents the relationship between:

A) Ray
B) Ocean
C) Sun

Options:

OO
NCay
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© (&

3 ¥

§Co

Question Number : 51 Question Id : 678913551 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the best suitable Venn diagram for the following classes:

4.

Pen, Computer, Paper

Options:

O
i '

0O

Question Number : 52 Question Id : 678913552 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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How many triangles are there in the following figure?

P

Options:
1 & &

> 7
3_%5

4 % 11

Question Number : 53 Question Id : 678913553 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the answer figures is formed from the shapes given the problem figure?

Problem figure:

l B ¢ b
x\ \\\ V"

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. A

> B
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Question Number : 54 Question Id : 678913554 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Nikita walks 2kms towards West. turns right and walks 1 km. Again she turns right and walks 2 kuns. She again turns
right and walks another 2 kms. How far is she from her starting point?

Options:

1 ® 5kms
> % 4kms
z % 2kms

4 « 1km

Question Number : 55 Question Id : 678913555 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Choose the water image of the given figure.

[

}'r[ EEEE -:\-

Ul s) 0O

A B C D

Options:
1.¥ A

2_33}3

Question Number : 56 Question Id : 678913556 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which one of the following is the equation for Velocity Time relation?

Options:
1 & V=u-tat

L % S= ut+ 1/, at?
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2 % 2as =v?—u?

4 % U=v—+at

Question Number : 57 Question Id : 678913557 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The SI unit of acceleration is

Options:

; % ms™1

5 o MS™2

2 ® M8
1

4 % Kgms™

Question Number : 58 Question Id : 678913558 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

: , 1 i . i o
What is the momentum of an object of mass S m. moving with a velocity of 2V?
Options:

{ % mv?

11111.?
> R 2

3« MV

4 B (mvjz

Question Number : 59 Question Id : 678913559 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following does not affect the value of acceleration due to gravity?
Options:

1 % Altitude

> % Depth

= o Mass

4 % Shape of earth
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Question Number : 60 Question Id : 678913560 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A porter lifts luggage of 20 kg from the ground and puts it on his head 2 m above the ground. Calculate the work done
by him on the luggage. (take g = 10ms™?)

Options:
L ® 3507

> o 400 ]
s % 1507

4 % 2007

Question Number : 61 Question Id : 678913561 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is a pure substance.
Options:
1 #® Air

> % Sugar solution

s % Milk

4 « Methane

Question Number : 62 Question Id : 678913562 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If an agent does a work ‘W’ in time ‘t°, then the power is given by:

Options:

1 #® W
- o Wi
2 ® Wxt

4 ® Wt

Question Number : 63 Question Id : 678913563 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

If the distance between two consecutive crests is L, then the wavelength is given by .

Options:
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& | b

Question Number : 64 Question Id : 678913564 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The amount of light entering the eye is controlled by the ;
Options:
1 % retina

-  bupil

3 % sclera

4 % cornea

Question Number : 65 Question Id : 678913565 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

A galvanometer is used to:

Options:
1 % detect the direction of sound

5 % detect the direction of light

3 « detect the direction of current

, % detect the direction of magnetic induction

Question Number : 66 Question Id : 678913566 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
1

A man has five resistors. each of value ( ) (1. The value of maximum resistance obtained by connecting them will be

pm |

Options:

2
-1l
1 ® 5
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Question Number : 67 Question Id : 678913567 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

are the elements of group 18.
Options:
1 % Alkali metals

> % Alkaline earth metal

- » Halogens

4 « Noble gases

Question Number : 68 Question Id : 678913568 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Going from fluorine to chlorine. to bromine and then to iodine, the electronegativity:

Options:
1 # Increases

> % Remains constant
= « Decreases

4 % First decreases then increases

Question Number : 69 Question Id : 678913569 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The force of attraction between the particles of matter is maximum in :

Options:
1 # waler

o o COpper rod

5 % air
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4 % alcohol

Question Number : 70 Question Id : 678913570 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is a formula for rust.

Options:
x FeO;xH,0

1
- % Fe; OxH, 0
- » Fe; OHxH, O

4 v Fe;0;xH, 0

Question Number : 71 Question Id : 678913571 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The colour of neutral litmus solution is .
Options:
1 % violet

-  purple
3z % blue

4 % Dblack

Question Number : 72 Question Id : 678913572 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Metallurgy is the process of:
Options:
, = galvanisation of ores.

- % rusting of iron.
= % distillation.

extracting metals from ore.

Question Number : 73 Question Id : 678913573 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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is a common name of ethanoic acid.

Options:
1 % Alcohol
-~ % Fuming acid

3 « Acetic acid

, % Sodium hydroxide

Question Number : 74 Question Id : 678913574 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is the metal used for making the filament of the light bulb.
Options:
1 % Nichrome

» % Copper
5 Tungsten

4 % Nickel

Question Number : 75 Question Id : 678913575 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Magnesium has atomic number as 12. Find out its valency.

Options:

1 % —2
> #® —3
3.¢ T2
4 % 73

Question Number : 76 Question Id : 678913576 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following plants bears naked seeds?
Options:
1 % Funaria
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> « Deodar
%z % Marsilea

4 % Chara

Question Number : 77 Question Id : 678913577 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Animals from Class are warm-blooded animals.
Options:

., » Reptilia

- % Pisces
= o Aves

4 % Amphibia

Question Number : 78 Question Id : 678913578 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The secrete(s) bile in human digestive system.
 — L }r
Options:

1 % small intestine

. % pancreas
3 o liver

4 % stomach

Question Number : 79 Question Id : 678913579 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

carries/carry hereditary material.

Options:
; ® RNA

> % Ovules

- % Pollen grains

4 v DNA



Railway Recruitment Boards - Level-1 Posts CEN-02/2018

Question Number : 80 Question Id : 678913580 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

results in the formation of zygote.
Options:
1 # Pollination

- « Fertilisation
5 % [lranspiration

, = Photosynthesis

Question Number : 81 Question Id : 678913581 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

has retained his Men’s Singles title by winning 2018 Australian Open.
Options:
1 % Marin Cilic

> % Oliver Marach

-  Roger Federer

4 % Robert Farah

Question Number : 82 Question Id : 678913582 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

On which day Major Dhyanchand’s birthday is celebrated as National Sports Day in India?
Options:

. % April 20

, » August 20

5 % October 291

4 % December 20t

Question Number : 83 Question Id : 678913583 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which among the following nations won the 2016 Kabaddi World Cup — Men’s Category?

Options:
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1 +« India
~ % Iran
5 % Kenya

4 % South Korea

Question Number : 84 Question Id : 678913584 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who was honoured with the Icon Award at the London Film Festival in 20187
Options:
1« Irrfan Khan

> % Anupam Kher

= % Amitabh Bachchan

4 % Naseeruddin Shah

Question Number : 85 Question Id : 678913585 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Where was the 48 International Film Festival of India held in 20172
Options:
1 #% Mumbai

- % Hyderabad

= o Goa

4 % Delhi

Question Number : 86 Question Id : 678913586 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following Veda mentions about music?

Options:

, » Rigveda

- % Yajurveda
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3 « Samaveda

4 % Atharvana veda

Question Number : 87 Question Id : 678913587 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who among the following activists actively participated in the campaign against the Narmada Valley Project?

Options:
, % Vidyaben Shah

5 % Aruna Roy

z % Irom Sharmila Chanu

4 « Medha Patkar

Question Number : 88 Question Id : 678913588 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Who became voungest girl in the world to conquer Mount Everest and Mount Elbrus (highest peak Europe)?
Options:
1+« Malavath Poorna

> % Bachendri Pal
= % Arunima Sinha

4 % Krushnaa Patil

Question Number : 89 Question Id : 678913589 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

‘Which Indian chess master has clinched the 2018 Tal Memorial Rapid Chess tournament in Moscow?
Options:
1 % Harika Dronavalli

- % Abhijeet Gupta

= « Viswanathan Anand

4 8 Humpy Koneru
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Question Number : 90 Question Id : 678913590 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

India’s first Videsh Bhavan will be established in which of the following states?
Options:
, % Gujarat

- % Jharkhand

= « Maharashtra

4 % Bihar

Question Number : 91 Question Id : 678913591 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Prime Minister of India cannot participate in voting on a no-confidence motion against her/his government if
she/he:

Options:

L ® Is m majority

> % Is a member of Lok Sabha

- s amember of Rajya Sabha

, w Forbidden by opposition parties of Lok Sabha

Question Number : 92 Question Id : 678913592 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Union Government has lowered interest rates on nine small savings schemes by for the April-June quarter as
compared to the January-March quarter.

Options:
. % 01%
> % 0.01%

3 « 0.1%

4 % 0.2%

Question Number : 93 Question Id : 678913593 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

As of August 2018, who is the present lieutenant governor of Puducherry?

Options:
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w INarayana swamy
% Najeeb Jung

z « Kiran Bedi

w Palani Swamy

Question Number : 94 Question Id : 678913594 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Baburnama. the autobiography of Babur, was composed in
Options:

1 % Persian

- « Turkish

z % Arabic

4 % Urdu

Question Number : 95 Question Id : 678913595 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

By which of the following Acts did the British, for the first time, introduce the system of indirect election in India?
Options:

1 ® 1856

> ® 1982

3 « 1892

4 % 1956

Question Number : 96 Question Id : 678913596 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

The Rihand River Valley Project is in
Options:
L% Haryana

- « Uttar Pradesh

= % Himachal Pradesh
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4 % Assam

Question Number : 97 Question Id : 678913597 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which state has the traditional dress of men known as "Sola or Fotua" and "Eri Chaddar"?
Options:
1 % Sikkim

> % Srinagar
= o Assam

4 % Himachal Pradesh

Question Number : 98 Question Id : 678913598 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

is the oldest public-sector bank of India.

Options:

1 % Andhra Bank
> « Allahabad Bank
= % DBank of Baroda

4 % Bank of India

Question Number : 99 Question Id : 678913599 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Which of the following is included in the UNESCO’s World Network of Biosphere Reserve (WNBR)?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1 Gulf of Mannar
- Nilgiri Biosphere

3z Nanda Devi

, Khangchendzonga Biosphere Reserve

Question Number : 100 Question Id : 678913600 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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According to recent report published by World Steel Association (WSA). India has overtaken the US to become the
world’s largest steel producer in 2017.

Options:
1 « third
- % seventh

3 % sixth

4 % second



